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i 7 The Imddle value of an ordered array of numbers is the

] (a) Mean Gy AT a - (b) Median.
) Mod. . (@ Range.
8 Prospenty, Recessmn and depression in a business is an example of :
(a) Irregu]ar trend. . (b) Seasonal trend.
(c) “Cyclical trend. (d)" Secular trend. N

‘9. A complete enumeration of all the items in the population is known as

(a) Census Enquiry. (b) Sampling stu_dy.
(e) Investigatibn. . (d) None of these.
10, ——— s .a one dimensional diagram.
270 (a). ‘Ber Diagram. . | (b) Line Diagrams.

(c) Both (a) and (b). (d) - None of the above. s
; LA (10 x 1 = 10 marks)
Part II (Short Answer Questions) '

Answer any eight questions.
Each question carries 2 marks.

11. What is Venn diagram ?
(6 0 7y
12. If'—’ 7 -2 3 . Find 3A.

.. 13." Solvex?—6x+ 8= 0.

- 14. What is geometric progression ?

T 15 Represent A ={2,4,6,8,10,...} in set builder method.

160 For what value of K, will K + 9, 2k—1, and 2k + 7 are the consecutive terms of an AP ? -

.‘" 17 -Find the rate of interest per annum if the simple mterest on a

rincipal of Rs. . ‘s Fo
4Years P .“p °. 5:00_.0.18 }SIOQfo.r

-

T 1“8'; ' Calculate geometnc miean from the followmg ﬁgures
g 575 87. 75 53 5, 73. 5, 81.75.
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. ' Draw a Pie dlar am to . .
and Hungmangr represent dlstnbuhon a certain blood group ‘o ‘among Gypsies, Indians

Blood Group Gypsies -Iridians - Hungarian '
e 360 180 90
B 20. What do you mean by Index Number ? , ,
' : (8 x 2= 16 marks)

Part III (Short Essays) -

Answer any six questions.
‘Each question carries 4 marks

"y 21. Usmg the following sets, verify that A u(B uC)=(A uB)uC

A= {,2,3} ; B={2,4,6] ; C={38,4,5}.
22. Solve the fdllowing equation by using matrices :

2¢x =3y =3
L 475 -y= =11 :

| 123-. Prove that A (A uB)= Au(AnB) by means of Venn dxagram
In an arithmetic progression the sum of the first 10 terms is 400 and the sum of the next ten terms

24.
is 1000. Find the common difference and the first term.

- 25. If the mean of the following distribution is 9, find the value of p.

X 4 6 p+7 | 10 | 15
f 5 - 10 10 7 8
Tl 13 2 3 1 2
.26 IfA=[0 2 1| ; B=[4 2 3
L 053 4 -1 1
Za Fmd the product ofA and B
27 i Explam d1fferent types of diagrams used for the presentatlon of data
e Find the compound mterest for Rs. 7, 000 for 4 4 years if interest is payable half year]y at 6% per
SRy § ,b .l : v, (6x4 24marks) '

s annum A,
' Turn qver,
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' _Part v (Lohg Essays)
- Answer any two questions.
Each question carries 15 marks.

‘ ‘ - : ) ) 1 1 1
29. Find the sum of each of the geometric series -2, 2’ 8' """ 37268

'30. An enquiry into the budgets of middle class families in Kannur city gave the following ihfdrm«"slti(?ﬂ -

Expenses on . Food Rent | Clothing Fuel - Misc.
Price (2006) 150 | 30 75 25 40
Price (2008) 145 30 65 23 45

Foll'owing weights were used Food 35, Rent 15, Clothing 20, Fuel 10, and Misc. 20.
What changes in the cost of living of 2008 as compared with 2006 are seen?

31. Find the standard deviation and co-efficient from the following data :

Size Frequency

0-2 2

24

R YRS

4-6

6-8

8-10
10-12

(2 x 15 = 30 marks)

Scanned by CamScanner



